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(i) IS oy
ComPOSite hypothesis
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None of the above

(b) = 3X3w

) S v ey
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" ables under study ar
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All of t}
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The sum of squares of deviaﬁon of
observations from mean divided by its

degrees of freedom gives the
(i) 9
- variance
(ij) o3 RORF O
mean sum of squares
@) () A (TR
Either (i) or (i) is correct
(iv) ) = (i) ore BT T
Neither (i) nor (i) is correct
() <1 T I@ HRIEAS SR
A randomized block design has

) R R

one-way classification

(i) Pl e

two-way classification

(i) FR e

three-way classification

(iv) IR

no classification
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Discuss the x2 cal datg with A
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] in these four

with high HDL cholestero
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5. (a)

56, 62, 61, 54, 52, 32, 24, 35, 50,
42, 52, 49, 26, 31, 31, 54 38, 36,
45,53,37,40,38,31,20,25,45,
52, 48, 39, 30, 38
A A R 005 I weefs o=
SfAeICeT T T
What are the limitations of non-
parametric test? To test the claim that
the median age of mathematics faculty
in the State community colleges is at
least 42 years, the results from a
random sample of 32 mathematics
faculties gave the following ages (in
years) :
56,62,61,54,52,32,24,35,50,
42, 52, 49, 26, 31, 31, 54, 38, 36,
45, 53, 37, 40, 38, 31, 20, 25, 45,
52, 48, 39, 30, 38
Use the sign test at the 005 level of
significance to test the claim.
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